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Yoo A k 2,502 2,134 456 424 1,402 365 1,183 584 9,601
I IbE 1y 100.1 99.3 98.4 100.5 99,7 99.3 102.6 100.0 100.2
18 101.2 99.2 99.8 100.7 99.4 899.5 101.6 100.6 100.2
17 100.0  100.0 100.0  100.0 100.0 100.0 100.0 100.0 100.0
18 101.1 99.9 160.4 101.9 100.0 100.7 99.0 100.5 100.2
- 19 101.4 99.7 101,5 103.3 100.0 101.4 97.2  101.4 100.2
I 194 15 101.9 98.6 9r.2  102.2 99.3 100.9 96.7 101.0  99.7
2 100,7 99.5 95.8 102.8 98.4 101.0 96.3 100.9 99.4
3 101.0 99.5 100.0  102.7 98.3 101.0 97.3  100.8 99.7
4 101.1 99.5 101.6  103.8 98.5 101.5 96.8 101.3 99.8
5 101.1 00.7 103.1  103.7 899.5 101.5 97.2  101.0 100.1
6 101.4 99.8 103.1  104.0 99.9 101.5 96.6 101.2 100,1
7 100.5 99.8 99.0 103,66 100.3 101.5 g7.4 101.1 100.1
8 101.2 99.7 97.3 103.5° 101.1 101.5 93.0 101.8 100.3
) 9 101.6 99.9 103.7  103.4  100.3 101.5 97.9 101.6 100.8
10 102.4 99.9 105.0 103.3 100.4 101.5 87.5  102.0 100.7
11 10,6 100.0 106.4 103.6 101.2 101.5 896.9 102,0 101.0
12 102.4  100.0 105.8 103.2 102.3 101.5 97.6  101.7 101.2
I K164 E 5 0.1 1.1 ~-0.1 1.4 0.2 -0.3 0.2 -1.0 0.6 0.0
XF 17 -0,3 -1.2 0.8 0.2 -0,7 0.6 0.5 -1.6 -0.6 -0.2
B 18 0.5 1.1 -0.1 0.4 1.9 0.0 0.7 ~1.0 0.5 0.2
i 19 0.0 .3 0.2 1.1 1.4 0.0 0.7 -1.8 0.9 0.0
I 194 18 -0.2 0.8 0.1 0.8 0.7 -6,1 -0.4 -0.1 - 0.0 -1.3 0.0 - -0.5
H 2 -0.8 -1.2 -0.1 0.3 -0.3 -1.4 0.4 -0.9 0.1 -0.4 -0.1 ~-0.3
3 0.3 0.3 0.0 -0.1 -0.4 4.4 0.1 -0.1 0.0 1.0 0.1 0.3
4 0.2 0.1 0.0 -0.3 -0.6 1.6 0.9 0.2 0.5 -0.5 0.5 0.1
=2 5 0.3 0.0 0.2 0.2 0.6 1.5 0.1 1.0 0.0 0.4 ~-0.3 0.3
F 6 0.1 0.3 0.1 0.2 0.1 0.0 0.3 0.4 0.0 ~-0.6 0.2 0.0
= 7 0.3 0.9 0.0 0.0 0.4 4.0 -0.4 0.4 0.0 0.8 -0.1 0.0
8 0.4 0.7 -0.1 C 0.3 0.1 -1.7 -0.1 0.8 0.0 1.1 0.5 0.2
9 0.2 0.4 0.2 0.1 -0.3 6.6 -0.1 -0.8 0.0 ~-0.6 0.0 0.3
% 10 0.4 0.8 0.0 0.7 1.5 1.3 -0.1 0.1 0.0 -0.4 0.4 0.1
11 -0.1 0.8 0.1 0.9 -0.5 1.3 0.3 0.8 0.0 -0.8 0.0 0.3
12 0.4 0.8 0.0 1.2 -2.9 -0.6 -0.4 1.1 0.0 6.7 -0.3 0.2
X | R Bl94E 18 -0.1 0.0 -0.4 1.5 -1.6 -1.5 0.0 0.0 0.8 -1.0 0.9 -0.1
B 2 -0.4 -0.3 -0.5 0.8 -1.7 0.1 0.5 -0.9 0.9 -1.4 0.7 0.2
iz 23 3 -0.4 0.3 -0.6 0.7 ~-1.9 0.5 0.6 -1,5 0.9 -1.2 0.7 0.4
Gl 4 -0.2 0.6 -0.8 1,4 -2.1 -0.3 2.0 -0.9 0.7 2.1 1.0 -0.3
H . b ~-0.3 -0.4 -0.4 1.4 2.9 0.8 2.2 -0.8 0.7 -2.7 0.8 -0.3
E 6 -0.1 0.3 -0.2 1.6 -1.5b 1.1 - 2.5 0,1 0.7 -3.4 1.3 ~-0.1
7 -0.1 0.2 -0.1 1.5 ~1.4 -0.1 2.1 0.1 0.7 -2.9 0.4 -0.1
7 8 -0.5 -1.3 0.0 0.5 ~-1.6 0.4 2.1 -0.4 0.7 -2.6 0.9 -0.1
5 8 0.0 0.3 0.2 0.5 2.7 3.2 1.9 -0.6 0.6 -1.8 0.7 0.2
10 0.5 0.9 0.3 0.9 -0.9 2.6 0.8 0,0 0.6 0.7 0.8 0.4
% 11 0.9 1.8 0.5 2.1 -1.9 3.5 1.5 1.6 0.8 ~-1.0 0.9 0.8
12 1.1 1.3 0.5 3.5 -3.7 3.3 0.6 2.9 0.6 -0.4 0.7 1.0
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S RRIGEEIEH | 100.2 899.9 99.7 89.2 105.0 98.0 100.4 99.6 99.1 103.1 89.7 100.3
16 100.1  190.6 98,9 98.2 101.9 100.2 100.8 99.3 99.4 101.8 899.8 100.1
17 100,06 100.0 100.0 100.0 100.0 100.0 100.0  100.0 100.0 100.0 100.¢  100.0
18 100.,3  101.0 100.2 103.9 96.7 89.4 93.4 100.2 100.8 99,0 100.4 100.0
.19 100.1  101.90 99.0 105.1 96.1 100.5 101.4 93.8 101.2 97.4 101.2 100.0

8
3E 194 LR 98.6 101.4 99,1 104.9  95.1 94.3  99.7 99.4 100.7 96.5 100.8 99

.3

2 96.2 100.8 99.1 104.5 95.6 94.6 100.4 93.3 100.8 95.7 100.7  99.2

3 99.4  99.9 99,0 104.5 95.7 100.4 100.1 981 100.8 97.2 100.§ 99.5

4 99.5 100.0  98.7 104.3 947 100.9 102.0 98.4 101.3 96.8 10l.1 99.5

5 | 100.0 100.6 99.3 104.3 95.0 102,65 101.8 ©99.3 101.3 97.2 100.8 9.9

8 99.9 100.0 99.3 104.6 96.8 102.5 102.2 ©99.6 101.3 96.7 101.1 99.9

7 996  99.5 99.0 104.5 9.4 9.6 101.9 100.1 101.3 O7.7 100.8 99.7

8 | 100.2 100.9 98.9 104.8 96.6 94,8 101.6 100.7 101.3 99.1 101.3 100.0

T 9 | 100.3 100.5 99.0 104.8 96.5 103.0 101.7 100.2 101.3 98.3 10L.5 100.3
10 | 100.8 102.0 98.9 1055 98.4 105.0 101.5 100.2 101.3 97.9 101.8 100.5

1| 1011 102.5 98.9 106.6 97.1 106.2 101.9 101.3 101.3 97.0 10L.8 100.7

12 | 101.7 108.8 88.8 107.89 95.6 105.4 101.6 102.3 101.3 98.2 1017 10L.1
FORI6EEH | 0.1 07 -0.8 -0.3 -2.9 2.2 0.2 ~0.8 0.3 -1.3 0.1 0.2

put 17 -0.1 0.6 L1 1.1 -1.9 0.2 -0.6 0.7 0.6 -L.8 0.2 -0.1
& 18 0.3 1.0 0.2 3.9 -3.3 0.8 -0.6 0.2 0.8 -1.0 04 0.0
o 19 0.2 0.0 -1.2 1.2 -0.6 1.1 2.0 -0.4 0.8 -L6 0.8 0.0
TOR194 13| 0.7 0.2 -0.1 0.7 -1.0 -7.2  ~0.4 0.5 0.0 -1.5 0.3 0.7

A 2 -0.4 0.6 0.0 0.4 05 0.3 0.7 -1 0.1 -0.8 -0.1 -0.1
3 0.2 0.8 -0.1 0.0 01 6.1 -0.3 -0.2 0.0 1.6 -0.1 0.3

4 0.1 0.1 -0.3 -0.2 -0 05 1.9 0.3 0.5 -0.4 0.5 0.0

£ 5 0.5 ~ 0.6 0.8 0.0 0.3 1.6 ~0.1 0.9 0.0 04 0.3 0.4
=4 6 -0.1 -0 0.0 0.3 1.8 0.0 0.3 0.3 0.0 -0.5 0.3 0.0
= 7 0.3 0.5 -0.3 0.1 0.4 58 0.3 0.5 0.0 1.0 ~0.83 0.9
8 0.6 1.4 0.1 0.3 0.2 -1.9 0.3 0.6 0.0 1.4 05 0.3

9 0.1 -0.4 01 00 -0.1 86 0.1 ~-0.5 0.0 -0.8 0.2 08

% 10 0.5 1.5 0.1 0.7 20 1.8 -0.2 0.0 0.0 -0.4 0.3 02
11 0.3 0.5 0.0 1.0 -1.3 1.1 0.4 1.1 0.0 -0.9 0.1 02

12 0.6 1.3 0.0 1.2 -15 0.8 -0.3 1.0 0.0 1.2 0.2 04

A OE 194 1) <03 0.2 -0.7 1.8 -2.8 -3.6 0.0 0.1 0.6 0.5 0.8 -0.1
il 2 -0.4 01 -0.6 0.5 -2.2 0.2 1.0 -1.1 0.7 -1.8 0.5 —01
& 3 0.6 0.1 -1.8 0.6 -1.6 1.4 0.7 -1.8 0.6 -1.0 0.7 —0.5
i 4 -0.6 01 2.0 0.8 -2.6 0.8 2.8 -1.1 0.6 -2.2 0.8 —0.8
A 5 -0.8 -1.7 -1.4 0.8 -1.7 1.7 2.8 ~-1.2 0.6 -2.8 0.7 05
T 6 -0.8 -1.5 -1.3 1.0 0.0 1.8 3.2 -0.2 0.6 -3.6 1.1 -0.8
7 -0.8 -1} -1.3 0.8 05 0.1 2.7 -0.3 0.6 -3.2 0.1 -0.4

- 8 -0.7  -1.0  -1.4 0.7 0.8 -0.7 2.8 0.8 0.8 -2.7 0.6 -04
ES 9 -0.2 0.4 -1.0 05 0.4 1.6 2.6 -0.3 0.6 -1.7 05 0.0
10 0.2 05 ~-L1 0.8 23 27 1.4 -0.5 0.6 0.3 0.9 0.3

% 11 L1 26 -0.9 23 05 3.4 2.3 1.3 0.8 -0.7 1.3 0.7
12 1.4 2.2 -0.3 36 -0.5 37 1.5 2.4 0.6 0.2 1.2 11
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W BRIBSESEHy | 100.4 1009 98.3 99,9 104.8 101.5 100.8 100.4  99.2 102.6 01,1 100.3

16 100.8  101.7 100.0  99.4 103.7 102.2 100.7 99.7 99.6 101.5 102.0  100.7

17 100.0  100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0

18 100.3  100.8  99.2 102.4 100.9 99.3 104.8 100.0 100.8 99.0 100.8 100.1

" 19 100.2 1015 98.8 102.8 96.0 100.3 106.2 100.0 101.5 97.2 100.4 100.0
ORRI94E 14| 99.8  101.7  98.3 102.7 96.9 97.8 105.5 99.3 101.2 96.6 100.2 99.5

2 89.1 100.5 98.2 102.3 96.7 93.4 1057 98.4 101.2 96.3 100.0  99.1

3 99.6 101.6 98,4 102.2 95.8 97.1 105.8 98.3 101.2 97.4 99.8 99.4

4 99.7 101.1  98.6 102.1 95.1 101.0 106.3 98.4 101.6 96.8 100.0  99.8

5 100.0 100.8  98.6 102.2 95.9 101.9 106.5 100.0 101.6 ©97.2 100.1  99.9

6 100.3 102.4 98,5 102.3 96.5 101.6 107.1 99.8 101.6 ' 96.5 100.1  99.8

7 100.0 101.1 88,5 102.3 9.1 98,3 107.0 100.2 101.6 97.4 99.9  99.9

8 100.3 101.4 98.5 102.6 96.0 97.0 106.3 101.2 101.6 98.6 101.0 100.0

¥ g 100.5 101.7  99.3 102.8 95.5 101.8 106.3 100.4 . 101.6 97.8 100.7 100.4
10 100.8 102.4 93,3 103.3 9.5 103.8 106.1 100.5 101.6 97.3 100.9 100.5

11 100.6 100.8  89.5 104.3 96.3 105.2 106.3 101.0 101.6 96.7 101.2 100.8

12 101.3  102.1 100.4 104.8 94.7 104.7 105.9 102.0 101.6 97.3 100.7 101.1

P 164 K 1 0.4 0.7 1.7 -0.5  ~1.0 0.6 -0.1 -0.7 0.4 -1.1 0.9 0.4

>t 17 -0.8 1.7 0.0 0.6 -3.8 -2.2 -0.7 0.3 0.4 -1.5 =2.0 0.7
B 18 0.3 0.9  -0.8 2.4 0.9 0.7 4.8 0.0 0.8 -1.0 0.6 0.1
" 19 -0.1 0.6 0.4 0.4 -4.,9 1.0 1.3 0.0 0.7 -1.8 -0.2  -0.1
3 ORE194 1R 0.0 1.3 0.3 0.3 -1.5 -3.0 -0.2 -0.4 0.0 -1.2 0.0 0.4

A 2 -0.7 -1.2 -0.1 -0.4 0.2 -4.5 0.2  -0.9 0.0- -0.3 -0.2 -0.4
3 0.5 1.1 0.2 -0.1 0.9 4,0 0.1  -0.1 0.0 1.1 -0.2 0.3

4 0.1 -0.5 0.2 -0.1 0.7 4.0 0.5 0.1 0.4 -0.8 0.2 0.2

£ 5 0.3 -0.2 0.0 0.1 0.8 0.9 0.2 1.6 0.0 0.4 0.1 0.3
=2 6 0.3 1.5 -0.1 0.1 0.6 -0.3 0.6 -0.2 0.0 -0.7 0.0 -0.1
2 7 -0.3  -1.3 0.0 0.0 0.4 -3.2 -0.1 0.4 0.0 0.9 0.2 0.1
8 0.3 0.3 0.0 0.3 -0.1 -1.3 -0.7 1.0 0.0 1.2 1.1 0.1

g9 0.2 0.3 0.8 0.2 0.5 . 4.9 0.0 0.8 0.0 -0.8 -0.3 0.4

% 10 0.3 0.7 0.0 0.5 1.0 2.0 -0.2 0.1 0.0 -0.5 0.2 0.1
11 -0.2  -=1,5 0.2 1.0 -0.2 1.3 0.2 0.5 0.0 -0.6 0.3 0.3

12 0.7 1.2 0.9 0.6 -1.7 0.5 -0.4 1.0 0.0 0.6 -0.5 0.3

X | R gR19% 15| 0.8 0.1 -1.8 6.0 -8.7 . 1.9 0.4 0.2 1.t -1.2  -0.4 0.4
L:{1] 2 -0.9 0.0 -1.9 0.7 4.4 -0.8 0.5 0.9 .1 -1.5 0.5 0.7
#® 3 ~0.7 0.7 -1.1 -0.8 5.1 -1.¢ 0.6 -1.5 .1 1.1 -1.4 0.8
" 4 -0.5 0.8 -0.9 0.2 -4.2 0.8 1.8 -l1.1 0.7 -2.2 -1.0 -0.7
H 5 -0.6 0.5 0.9 0.2 -8.3 0.5 2.2 0.0 0.7 -2.7 -0.5 -0.8
b 6 -0.3 1.2 -1.1 0.3 -5.2 0.1 2.6 0.0 0.7 -3.5 0.1 -0.8
7 -0.2 1.3 -1.0 0.2 -4.5 -1.0 2.4 0.1 0.7 -2.9 -0.5 -0.4

7 8 -0.7 -1.2  -0.5 0.2 -4.4 -0.9 1.8~ -0.1 0.7 -2.5 0.4 -0.4
# 9 0.1 0.8 0.3 0.2 5.7 3.5 1.8 -0.3- 0.4 -2,0 0.5 0.3
10 0.4 0.8 1.1 0.5 -3.9 3.0 0.6 0.1 0.4 -1.0 0.1 0.5

% 11 0.7 0.9 1.3 1.9 -5.0 3.6 1.2 1.1 0.4 -1.3 0.7 0.9
12 1.5 1.7 2.4 2.4  -3.8 3.9 0.2 2.3 0.4 -0.5 0.5 1.2
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ORISR WA | 997 100.8 959 100.1 108.2  97.0 100.1 99.8 99.4 102.8 995
16 1002 102.1 97.2  99.5 103.6 98.4 100.8 99.5 99.7 101.9 100.1-
17 100.0 1000 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
18 100.6 1017 100.2 102.5 98.6 101.8 101.6 89.9 100.5 99.0 100.2
19 100.7 102.1 100.3 1031 95.2 103.3 103.0 100.2 101.1 97.2 101.0
o194 1A | 100.8 103.4 1007 1031 98.9 991 101.8  99.1 ' 100.6 7.0 100.7 1
2 | 100.2 101.8 100.6 102.3 ©97.5 8.0 102.1 9.4 1007 6.7 100.6 7
3 | 100.8 102.1 100.0 102.9 96.5 1008 102.8 98.4 100.7 97.5 100.5 8
4 | 100.4 1019 100.1 102.6 6.0 103.4 103.2 98.5 101.2 97.0 100.9 99.9
5 | 1007 101.8 100.3 102.7 9.7 104.9 103.7 99.9 101.2 9.3 100.6 5
6 | 100.6 101.7 100.4 102.7 95.2 104.6 103.7 100.2 10L.2 95.6 100.8 ]
7 | 100.3 100.8 100.4 1025 94.5 101.5 103.0 100.7 10l.2 9.5 100.9 ]
8 | 100.7 101.4 100.3 102.6 94.8 99.8 103.5 101.4 10L.2 98.4 1013 2
9 | 101.0 102.7 100.3 102.6 93.8 106.5 103.0 100.5 101.2 97.6 10].9 6
10 | 101.2 103.1 100.3 103.4 94.8 106.4 103.3 100.8 1012 7.3 101.7 6
11 | 1011 102.1 100.3 103.9 94.2 108.2 103.4 101.5 10L.2 96.8 101.7 8
12 | 1012 102.9 9.5 105.8 89.1 106.8 103.0 102.5 101.2 97.4 101.3 8
ORISR 05 L1 1.8 0.6 -4.3 1.4 0.7 0.3 0.3 0.8 0.6 3
pot 17 0.2 21 29 05 -35 1.6 0.8 0.5 03 -1.9 01 1
5 18 0.6 1.7 0.2 25 ~-1.4 1.8 1.6 ~0.1 0.5 -1.0 0.2 2
o 19 0.1 0.4 0.1 06 -34 1.5 1.4 0.3 0.8 -1.8 08 0.0
FRI9E IF| 03 L7 L2 05 01 -4.0 0.6 0.2 0.0 -1.3 0.0 -0.1
H 2 | 0.6 -1.5 0.1 0.2 -1.4 -1 0.3 0.7 0.1 0.8 -0.1 04
0.1 03 0.6 0.0 -1.0 3.0 0.7 0.0 0.0 0.8 0.1 01
4 0.1 -0.2 01 -0.3 0.5 2.5 0.4 0.1 0.5 -0.5 04 0.1
£ 5 08 0.1 02 01 07 15 05 1.4 00 0.3 -0.3 0.3
H 6 | 0.1 0.1 01 0.0 -L6 -0.3- 0.0 0.3 0.0 07 02 0.1
& 7 | 0.3 -0.8 0.0 0.2 -0.7 -3.0 -0.7 05 0.0 07 01 00
8 0.4 0.6 ~0.1 0.1 0.3 -17 05 0.7 0.0 11 04 01
9 0.3 1.3 0.0 0.0 -L1 67 -0.5 0.8 .00 0.8 00 04
10 0.2 0.4 00 0.8 11 0.1 0.3 0.3 00 08 04 00
11| -0.1 -0 0.0 0.5 0.6 L7 0.1 0.7 00 <05 00 02
12 1 08 0.8 1.8 54 -5 -0.4 1.0 0.0 06 -04 0.0
| K194 18 0.2 1.1 0.3 0.4 0.9 -1.8 -0,2 0.3 0.6 ~0.9 1.0 .1
& "3 0.1 07 0.2 -0.3 <-0.1 0.8 05 0.8 07 -1.0 08 1
po 3 | -0.3 0.2 -0.3 0.3 -1.4 0.5 1.3 -14 0.6 -0 07 04
= 4 0.1 0.8 0.2 0.7. -2.1 1.4 2.0 -0.7 0.6 -L3 1.0 2
A 5 | -0.2 -0.2 0.0 0.7 -1.0 0.7 2.0 0.2 0.6 -2.4 06 2
o 6 0.2 0.9 01 0.8 ~2.0 1.7 2.5 0.4 0.6 -3.2 14 0.0
7 | 0.2 01 01 0.4 31 0.8 1.8 05 06 -2.8 0.3 0.1
7 8 | 0.7 21 01 0.3 53 0.8 2.2 0.1 06 24 o8 3
% 9 | -0.2 0.0 01 0.3 7.1 38 1.8 0.3 0.6 2.0 05 1
10 0.3 1.2 01 07 5.1 2.4 1.0 0.6 06 -L0 1.0 1
% 11 0.8 1.2 0.8 1.3 -5.8 3.9 1.8 2.1 06 -L2 1.0 8
12 0.7 1.2 0.0 31 -9.8 3.3 0.6 3.2 0.6 -0.9 08 5
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% T 4 h |10,000 2,548 2,154 601 354 476 424 1,3 421 582 9
e ORRIGHEFEH | 98.9  99.4  100.0  100.1 101.2  97.7 100.0 99.7 98.6
16 100.3 101.0 89.3 99.6 101.4  ©9.4 100.8 99.8 99,7
17 100.0  100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
18 101.0  100.4 . 102.3 102.0 103.5 101.8 102.8 100.6 100.3
?E 19 101.0  100.3 103.7 102.4 102.9 98.5 104.4 101.2 101.2
T OpR194E 15| 100.5  100.0 103.1 102.5 103.4 97.5 103.3 100.8 100.8
2 100.3  99.9 103.3 102.0 103.5 94.1 103.8 100.8 100.8
3 100,5  99.8 103.6 102,1 103.3 97.4 103.9 100.8 100.4
1 100.5 99.6 103.7 101.8 102.4 98.4 104.9 101.3 101.1
5 100.9  99.8 103.8 102.0 102.5 100.5 105.0 101.3 101.0
8 101.1  100.3 103.9 102.0 102.0 100.7 105.1 101.3 101.1
7 100.8 99.6 103.9 101.8 101.3 96.6 104.7 101.3 101.3
8 101.2  100.5 103.7 102.1 103.2 94.6 104.5 101.3 101.3
el 9 101.5 101.5 103.7 102.2 103.3 98.7 104.6 101.3 101.3
10 101.6 101.5 103.7 102.7 104.1 99.7 104.4 101.3 101.8
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% 11 .. 1.8 0.8 1.8 -1.5 23 1.2 23 0.5 -1.3 0.1 06
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=1 6 0.2 0.7 0.2 0.1 -0.1 0.2 0.1 0.3 0.0 -0.7 0.3 0.0
= 7 -0.4 -1.3 0.3 0.1 -0.1 5.0 -0.4 0.0 0.0 0.5 -0.2 0.0
8 0.4 0.8 0.1 . 0.2 -0.4 -1.4 0.1 1.0 0.0 0.8 *0.3 0.2
9 0.3 0.4 0.2 0.3 0.1 7.9 -0.3 -0.6 0.0 -0.3 0.2 0.3
% 10 0.6 1.7 -0.2 i.s 2.0 1.3 . 0.0 0.1 0.0 -0.2 0.2 0.3
11 0.1 -0.9 0.3 1.1 ~0.9 1.0 0.4 1.0 0.0 -0.4 0.0 0.3
12 0.3 0.2 0.0 1.2 ~2.5 -0.5 -0.3 1.2 0.0 0.8 -0.1 0.3
it I RRI9E 18 -0.8 ~1.4 -0.8 0.5 -3,1 4.3 -0.4 0.1 0.9 -1.2 1.2 -0.b
FE ] 2 -1.0 -1.7 -1.1 0.1 -2.7 -0.8 0.1 ~0.7 0.8 -1.9 1.1 -(.6
il 3 -0.7 -1.0 -0.9 0.1 -2.3 0.7 0.1 -1.2 0.9 -1.4 1.1 -0.8
B 4 -0.4 0.3 -0.8 1.0 -2.6 0.6 1.6 -0.8 0.6 2.3 1.3 -0.4
A 5 =0.5 -1.0 =0.5 1.2 -0.9 1.4 l.g -0.6 0.6 -3.0 1.1 =0.4
> (4] =0.1 -0.3 0.0 1.3 ~1.3 1.6 1.9 0.2 0.6 -3.5 1.6 =0.1
-7 -0.1 -0.3 0.6 1.2 -0,4 0.0 2.0 -0.1 0.6 -3.1 0.4 0,1
- 8 -0.4 -1.6 0.8 0.3 -0,2 0.0 2.0 -0.3 0.6 -2.8 0.7 0.0
= e 0.1 0.1 0.9 0.6 -1.7 3.2 1.5 -0.5 0.6 -2.1 0.6 0.2
10 0.7 1.3 0.7 1.9 0.6 3.5 0.5 -0.1 0.6 -0.9 0.9 0.6
% 11 1.3 2.2 0.6 3.6 -1.5 4.0 1.2 1.4 0.6 -1.3 0.9 0.9
12 1.5 1.5 0.6 4.8 -3.2. 4.8 0.5 2.9 0.6 -0.8 0.9 1.2
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